Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

COMPOSITE EDGE
OPAQUE FIBERGLASS SINGLE DOOR
w/ TRANSOM & SIDELITE(S)

INSWING /OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS TDI DR-947

The Fiberglass Door system described herein complies with the 2018 Intemational
Residential Code (IRC), Sections R301 & R609 and the 2018 intemational Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

I.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind-borne debiris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.
Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J" part
numbers. These door and sidelite panels must be stained or painted within six
months of installation.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical Elevations, Design Pressures & General Notes
2 Door Panel Details

3 Sidelite Panel Details

4 Transom Deiails

5 Elevations
6

7

8

9

Horizontal & Vertical Cross Sections
Vertical Cross Sections (Thresholds)
Frame Anchoring

Hardware Details

10 Glozing Details

11 Components

12 Bill of Materials

53.25" MAX O.A.
FRAME WIDTH

(INSWING)
94.75' MAX. OVERALL FRAME HEIGHT
(OUTSWING)

95.5" MAX. OVERALL FRAME HEIGHT

-~ 8.75" MAX O.A. FRAME WIDTH

PN L L PN

Lyndon F, Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

L_ 37.75" MAX .
— 37.75" MAX
FRAME WIDTH FRAME WIDTH
15.5" MAX. 15.5" MAX.
FRAME WIDTH FRAME WIDTH
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
LOCK INSWING QUTSWING
CONFIGURATION HARDWARE
POSITIVE NEGATIVE POSITIVE NEGATIVE
O/X0, O/0X, O/OX0O| Latch & Deadbolt +47.0 -47.0 +47.0 -47.0
O/X0, O/OX, O/OXO Muttipoint +47.0 -47.0 +47.0 -47.0

See Sheet 5 for Hardware Specifications

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

)
L
Ze
a2
7}
' Lé"q
3 =
o0 .
xa = Ll
= o=
lin joy R
2 b ISR
Ea maéa
o =~
o] & o
F9 18 .8
L 24 3%
- mgm
3 S| &
0 o tLI.J
S e &
[+ % 0.
L P
Lim
Ly
o
o
s
O
&
S o
o |Z
)
] I 7))
s| &
] 1@
v
e
i
S
o
S
~
i
RE
}O
~lo
=z
DATE: 11/14/17
scALE: N, T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4725

SHEET _1 oF 12

© 2017 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\ThermauTru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

0.5" —

e 1.71" —=

/

COMPOSITE
CAP

HINGE STILE

(ENGINEERED WOOD)

m HORIZONTAL CROSS SECTION

12"

I<— 0.5"

{<— 1.875" "-i

1

INTERIOR

\2/

q

] 55

36.0" MAX.
- DOOR
PANEL WIDTH
—
X
Q
fER)
x*
v}
=z
<
0.
[+°4
o)
K
> X
<
s
SN

‘ DOOR PANEL
BOOK

~—0.41"

EXTERIOR

7/
COMPOSITE \
CAP HINGE STILE
(ENGINEERED WOOD)

INTERIOR

1.2

l—-—l.875"-——l —

~~—0.41"

e v }
ety
EA
. :
.

AV .

COMPOSITE

/"2 "\ HORIZONTAL CROSS SECTION

\2/

35.813" MAX.
DOOR
PANEL WIDTH

E——

COMPOSITE
CAP
LOCK BLOCK STILE
(125'LONG V)  (ENGINEERED WOOD)
35.813" MAX.
(~——  DOOR —n]
PANEL WIDTH
Gt v
5
i 3
o
2z
& J
x e
o)
Q @7
. X ?
<€
s
O~
~

. DOOR PANEL
Hybrid Door

79.06" MAX. DOOR PANEL HEIGHT

e

q

55

]

>

DOOR PANEL
U1 Door

|

i
CAP Mriondce™ i g
LOCK BLOCK STILE f: .
(12.5" LONG WOOD) {ENGINEERED WOOD) § ; §
& o
8 §
5
E xR
g
w
=3
Qc <
TOP RAIL 28 | &
(COMPOSITE/ENGINEERED T sy o
WOOD) %g @ =
CUT) o @
= 1 x
., @198
I 1 g N o
. B o kE
< .. pa ¥ =
A roamcore — ||, £
‘ (POLYURETHANE - . R
1.9 PCF MIN.) g . P
/4 S
[&]
INTERIOR EXTERIOR INTERIOR EXTERIOR <
&) 172]
ol |Z
&
© 1%
A o =
N M o N a.
= . . N 0
3 T rBeRoLASS SKIN/ : & =
o (0.073" THK.) = fu
<<
Q
[\
-
S
N
N

-—1.71" —

7“3\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

BOTTOM RAIL
(COMP))

/,i

L~ 171" —-—' -

/ 4"\ VERTICAL CROSS SECTION

\2/

\2/

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F-11852

1

L
<
(]
S
zZ
7

pATE: 11/14/1

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4725

SHEET _2 oF 12

© 2017 r.w. BuiLpDing CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

13.94" MAX. PANEL

13.94" MAX. PANEL

WIDTH WIDTH
7.13" MAX. D.L.O. 7.02" MAX. D.L.O.
WIDTH ]D WIDTH
]
R
5 2 520
m=\3 < o =Y
e > T r & -
o <0 o 20
z 2% z%3
o D o
< O 52 l
< vz <
s P =
& &
&,
SIDELITE PANEL SIDELITE PANEL
‘ Full Lite . 3/4 Lite
Flush Glazed Flush Glozed
14" MAX, PANEL 14" MAX. PANEL
WIDTH WIDTH
FMMDLO. 1 |+~ 68"MALDLO. |
WIDTH
U I
o T 5 |
£ 3 £
< <€
= 3 : =
o~ o~ ST
M~ M~ z .
B39

‘ SIDELITE PANEL
Full Lite

D

Lip Lite

7

. SIDELITE PANEL
Half Lite

Lip Lite

0.66" —>l

STILE (WOOD)

1.7

/1 \ HORIZONTAL CROSS SECTION

S

INTERIOR

EXTERIOR

|
STILE (WOOD)

INTERIOR

EXTERIOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

7“2\ HORIZONTAL CROSS SECTION

W Lip Lite Glazing

l

t* 2.625" (TYP.)
1

I

#10X 1-1/2" PPH
PLASCREW (TYP.)

BTS 1/2 LITE FRAME

3.25" (ﬁP:) ] e

>
< _
=
oE |
#10 X 1-1/2" PPH
PLASCREW (TYP.)
BTS FULL LITE FRAME

\y Flush Glazing

1.7

TOP RAIL—]
(WOOD)

FOAM CORE— |

(POLYURETHANE -

1.9 PCF MIN.)

EXTERIOR

0.59" —=| |=—

FIBERGLASS SKIN
(0.070" THK.)

/

BOTIOM RAIL ——f

(WOOD)

m VERTICAL CROSS SECTION

W Lip Lite Glazing Shown

1.7

TOP RAIL— &=
(WOOD)

0.59" —~ =—

FOAM CORE — |
(POLYURETHANE - ’
1.9 PCF MIN.)

EXTERIOR INTERIOR

FIBERGLASS SKIN —

(0.070" THK.)

~— 0.59"

O 4

BOTIOM RAIL w

(WOOD) . ?

/8 \ VERTICAL CROSS SECTION

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

THERMA TRU
FIBERGLASS DOOR
SIDELITE PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

LFS
B

REVISIONS

9/28/21 {UPDATE TO 2018 IBC/IRC CODE

1

B
S
o
Z
7

DATE: 11/14/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

w Flush Glazing Shown

DRAWING NO.:
TX—~4725

SHEET _ 3 oF 12

© 2016 R.W. BUILDING DONSULTANTS INC.



TON| SANVYLINSNGD ONIaTNGg ‘M'd 4102 @

Z68LL—~d # NOUWVMISIOAM 40 ILVOL4LLNID a8 SNOISIATY 3Iva TONI~
(o]
L6L6°685CLE FoN euoUg megmc. NOSNvaL S41] 3000 2dI/081 810Z OL 31vadn| iz/8z/6 | | |N|U|X cm. & ._..,._
GESEE 14 OOLIPA OFZ X08 Od \h\h@ "KTENISSY J0 19vd ¥ M IR
‘ONI ‘SINVLINSNOD oNiaTing ~ R g | 4_
¥00d SSY19438Id | |8|Ele &
CZTLYOLF "F'd SVYXIL NAL—YNYIHL gl m ol y|E &
T'd WPIUYDS d uopuky :Ag pesodelq sjuewunoo( -L0NA0¥d 518183 m 5
£ 5
7 &
g5 smvor oY o -
g LAIWHOS 4 NOGNAT & 3 & 2
[/ ZITERCENTRYS POt R byt ongeasa s < ot L
P Sy & T Q <
4 Srs oG > < =
my -, Dk Fod N, o oo Ty
%N &.Nx...f o &su.s S} - “ - w
- \*\ .:.::.:-..,P/VVQ = [oo] o [os] -
U 3G 3 = 2 Z = 5
W™ < Jo!
O ~
// &=
17 = £ED
< L0
2 £
o 2 g
£ £ 0
3 323
« G} g 2
9 Eo
== ® §
FaAY vy O
5 S
w = 0
= £ g
3 "” 5 o
< _ W £ =
O ~/) 0o =&
b Z e o
in w Z -
o i
[ 7]

7“2\ VERTICAL CROSS SECTION

<)
AN
ey
8 o
T =
= =
¥ 9 S
< d 2
< % O =
A {2
= =
G ® 5
2 g # o
[TV ]
vy
a
o)
o
—l
N =
=
Q
&
P :
IHOBH 'O Ta mw
XVYW.ST'LL
_ IHOBH 1aNVd
XYW .99°€ L

Bmp sz-vz/p-X1\sBumeiq - D\(LzLy - 9LLy X1) edwi-uoN 86p3 dwiod anbed 0,8 78 8.9 - L6 ¥A - 1AL\SUI J0 1d8Q sexal - S\INANVINYId ML BULRY L\SIUSID\Z



P

O~ i

\/\/

ELEVATION
XO

(2
\&/

SEE HARDWARE
CHART

>,

SEE HARDWARE
CHART

NN \/\JU\U

ELEVATION
OXO

MM-“

Pk LIS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

THERMA~TRU
FIBERGLASS DOOR
ELEVATIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

REVISIONS

9/28/21 [UPDATE TO 2018 IBC/IRC_CODE

|

1

L
<
[}
(o]
=
7

oate: 11/14/1

Panel options shown are for illustration and are representative only
{similar opaque panel configurations are allowed)

Fiber-Classic/Smooth-Star Door Panel Options

scae:  NT.S.

DWG. BY: JK

CHK. BY: LFS

KNOB: F51
SCHIAGE | heapBOLT: B6O
| KNOB: SIGNATURE SERIES
KWIKSET | DEADBOLT:  SIGNATURE SERIES (980)
HOPPE | MULTIPOINT : MPDGART
(THERMA-TRU) (3 pt. Manual Tongue)

DRAWING NO.:
TX—-4725

sHEET _ 5 oF 12

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

© 201 7 R.W. BUILDING DONSULTANTS INC,



0-‘5£'T$F;)5’NK e EXT. SHEATHING u,
n.
DRYWALL 0.15" C-SINK DRYWALL - g
I hed
\ I o / Wi X3
| , s g3
S YT ELTLLHFELLL IS : Y -
6 ¥ o - 5 gfi
.o n -
_ [ DRYWALL R
INTERIOR , L / & 9%y
o Q52
A . ) 2 0 L
6—_ Mmoo
S 2 £ Egi
\ E
== e S et §
e C. g N ™Y e - I;.‘ D

CERTIFICATE. OF REGISTRATION # F-—11852

w
21
\

o1 SHEATH ® 29 m 27\ CZ) memme Zég é /

DWG. BY: JK

g
EXTERIOR INTERIOR 3§ E%
Ko 5
1"\ HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION /3" HORIZONTAL CROSS SECTION Lo |5 48
W Outswing shown {Inswing similar) w Outswing shown {Inswing similar) w Outswing shown (Inswing similar) 55 D g "
@ y £2 |5 3 8
g AN
Nofe: m & T | %
1. Sidelite assembly screws located 14" from top and 14" from bottom & 2 o
2 more screws equally spaced between (4 screws tofal per side jamb). Q 'Q:E
2. Transom sill attacthed to door header w/ item #20 or #21 spaced 6" o.c. _ % % o o
SEE NOTE 2 e ———— "
0.15" C-SINK 0.15" C-SINK @/ 8
L e /(: # = 2
S o
ol
SEE NOTE | SEENOTE 1 o o |
2
AR IERIGR ’ EXTERIOR n INTERIOR =
i) 2 Y S
X5 a
iz @ VERTICAL CROSS SECTION 5
N GGG s ~ 6 / Inswing shown N
] A T NN oy o~
\ NI i s / SEENOTE 2 NE
O "l X)) \ N
LA @ &
@ @ Q & @ X/ DATE: 11/14/1?
@ @ @@Q 27 £ @ EXTERIOR W @A@ INTERIOR s NS,

#2)

EXTERIOR

' CHK. BY: LFS
/"8 HORIZONTAL CROSS SECTION /7 "\ HORIZONTAL CROSS SECTION /2\ VERTICAL CROSS SECTION GRG0
w Oufswing shown (Inswing similar) w Outswing shown (inswing similar) \/ 9 TX—4725

SHEET 6 oF 12

- Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

© 2017 R.W. BUILDING CONSULTANTS INC.



Noftes:

1. Sill fem #'s 16, 32, 34, 35, 36, 37, 38 & 39 are aftached to jombs w/ (3} #8 X 2-1/2" pfh screws at each end.

Sill tem #'s 17 & 18 are aftached to jambs w/ {2) #8 X 2-1/2" pfh screws at each end.

Silt ltem #15is attached fo jambs utilizing {2) #10 X 2" pph screws at each end.
2. Sidelite assembly screws located 4" from each end {2 screws along sill).

\\

INTERIOR

(0aa)

SEENOTE 1
\

7

)

EXTERIOR

(®)

38 (39 |32

K ) wooD
D ) CONCRETE

7“1\ VERTICAL CROSS SECTION

W Inswing Sill

EXTERIOR

(0@

SEENOTE 1

\\

10

INTERIOR

15

SEENOTE2

.

K ) WwoOoD

D ) CONCRETE

/“ 4"\ VERTICAL CROSS SECTION

\7/ Public Access Sill

INTERIOR

(@)

SEENOTE 1
\

INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

N EXTERIOR
/Y EXTERIOR 77}

(@)

SEENOTE 1

INTERIOR

OB OGO,

33 (34 ) 35 ) 36 | 37

A

I

K ) wooD
D ) CONCRETE
m VERTICAL CROSS SECTION

w Inswing Sill

\\

/3" \ VERTICAL CROSS SECTION

\_7_/ Outswing sil

EXTERIOR
\\

EXTERIOR /Y
SEENOTE 2 @\
: ’ :

4

INTERIOR

16 \17 {18

wooD ( K
CONCRETE( D

/"6 \ VERTICAL CROSS SECTION

\U Outswing Sill

7”5\ VERTICAL CROSS SECTION

W Inswing Sill

P.O. Box 230 Volrico FL. 335985

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL CROSS
SECTIONS (THRESHOLDS)

THERMA-TRU
FIBERGLASS DOCR
PART OR ASSEMBLY:

PRODUCT:

LFS
Y

REVISIONS

9/28/21 [UPDATE TO 2018 IBC/IRC CODE

1

L
S
3
=
7

DATE: 11/14/1

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4725

SHeer _7 oF 12

~ Z)\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX4716 - 4727)\C - Drawings\TX-4724-25.dwg

© 2017 R.W. BUILDING CONSULTANTS INC.



TONI SANVLUTINSNOD aNiaing

M LD

ZS8LL—4 # NOLVMISIONY 40 3LVOL4UNIO e SNOISIAY TN
~ N
L616°659°CL8 FON BUOU ONIHOHONY INveld 41| 3000 _ol/08I 810z Ol 3ivadn| iz/ge/6 | L || v|X || & .m_
S6GEE 14 OSUIDA 0€Z *0g 'O'd \Sug. "ATENISSY ¥O Ldvd A W = ." .M ©
*ONI "SINVLINSNOD ONIaTng N g ! 8~
¥00Q SSY19438ld —| . |18]&le B
£ZLYOL# "I'd SYXaL NYL—VYWNSIHL i olelE &
"F'd WPILYIS "4 UOPUAT  i4g peupdesd sjusuinoog -10NaoAd ] m 2|35 W &
) R £
. m
PR -1 W 2 o
S A7) 40 X ]
R e G
— ~—(dAll ¥
T TEE ¥4 —_
. - ("dAL) ('dAL) - =
Caml (dA) DO, _ _ =
* ¥ XYW.SY «
I _ _ _ N
| . é ?1 g
— — 2
Q.. -y
| 34
E Z1 I _ i
O N — — —
0T = MTLlE
Zot = |1 Ex m
o - iy o =
2 B % m
> m.: - m.l mlw O
== o= @) .
{U | D © -
=0 /] | | | !
_ \ I I | | ] o
<
Ny
QL
O
=
O
<
5 <
2 L
2 =
e <t
. [+ 4
—~— ("dAL) ¥ (e
: — (dAL) o
I%va T (dAL) ¥ -— &
. =—{dal) .y (dA) D0 g
| _ KYW .S *
CT 1 T _ _ I T
| 06 it
~ - = < X
s L 7] , _ _ _ + X
8 L% = _ T } e @)
s C o o - =
Z0E = _ ~Ex @)
b <O % — o a. : X
R —_ T o) ma..
M o o W m QO
== ok & 0
u.5 . A 4 W e}
]9 T o)
=0 I 19 ]

JAMB TO HEAD DETAIL
(TYP)

BMp-cz-y2Lp-XL\sBumeld - D\(£z.¥ - 9L.v X1 Pedwi-uoN 86p3 dwo) anbed 0,8 79 8,9 - L¥6 ¥A - 11\sul J0 1daq sexal - S\LNINVINYId NIL BUBYL\SIUBID\Z .




. CONY SAINVLTINSNGD aNIauing "m"'s 4102 @
ZS8LL—4 # NOUWHLSIONM 40 ILVOLIILYIO e SNOISIAIY T TN ~ j
N
L616°659°C18 ON suoud SIVLIA IvMadvH S41]_3000 0di/oal 810z oL 3ivadn| iz/8z/6 | L |N|u|X || 9 m_
S868€C TId ODUIDA 0CZ Xxog .O.n\xv FATENISSY dO Ldvd M m = b3 U. °
*ONI 'SINVLINSNOO oNiglng @. N nNu | 9_
¥00d SSY19y34ld = |&8lEle &
£ZLYOL# "a°d SVX3L NYL—YWHIHL i m slylE &
"A'd WPIUYDS 4 UOPUAT £y peundesy sjusWInoOg -10Naoyd £|18[8|3 W %
® 3
—d b
= [
Bl ory =
Q|8 =ils <
i _u ) L Qr '
@ aclE —- Qs
&g i 32 a
\/ | = S5 >
n S= x o
@ 8 ® 3 5
3 ¥4
@)
O
L |
Jome
<
o
R R RL S A—— W
—~— 108 | WLE'ST | @l =
7 32 =
[ =)) N = ] = m
| . i p—— ] 8
ES
\ \ :
= —
2 < T =
O — O Q=
SUE <28
el mae
9w “2 o
GAVT 40 400a AI¥FAH/ LN
dOLWO¥d .SZl'LL (‘dAL) .S2'6T
WVT 40 _ J400a NO0Y m..N
dOLWO¥4 ST L1 ('dAL) ST'62 @ 3
: X1 &
—_ ﬂ& % @ ] 3 = @ 7 e T = w
we = : : Co— m N M. m
z S [T 1 x
I
(AN
ul m Q\ @ ﬂ @ M
~— (5’1 7 .88%¥ 5
§'s -— 3
. m m
_ (& ) ol
L = ] |
=0
55
)
5
O8=
SEE
Hat
b 3
S 0 =g
(%51 e
e &
® S
35 >
® : ] B
| {1 = &
o = ~
60 =] Sls 25 Q
= —/ \. = _./ = m 2 s M
2 Qo
al< of < M
o3 x Q
x e
e < od
: 5
<

BMP'SZ-72 L p-X1\sBumeRIQ - D\(£2.¥ - 9LLF XL) wedwi-uoN 96p3 dwod anbedo 0.8 % 8.9 - Z6 YA - 1AL\SU| J0 1dBQ sexa) - A\LNINVAUT ML BULBYINSIUSIDNZ



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX 4716 - 4727T)\C - Drawings\TX-4724-25.dwg

BACKBEDDING
COMPOUND
SHOWN w/

CUT-0UT
PANEL \

172" GLASS BITE
——1/2" - 9/16" THK. GLASS

il d<l/8" TEMPERED GLASS
1 AIR SPACE
™~C 1/8" TEMPERED GLASS

#P]FS)HXP]LXS/?ZREW DURASEAL, ALUMINUM
OR STEEL SPACER

<:> GLAZING DETAIL
BTS Lite Frame

Sidelites

BACKBEDDING
COMPOUND

SHOWN w/
MOLDED OPEN
PANEL

1/2" GLASS BITE
——— 1" THK. GLASS

1/8" TEMPERED
7 /

:QA;R SPACE
1/8" TEMPERED
GLASS
#10X 1-1/2"
PPH PLASCREW

C) GLAZING DETAIL
BTS Lite Frame

Sidelites

DURASEAL, ALUMINUM
OR STEEL SPACER

—3/4" THICK GLASS

1/8" TEMPERED GLASS
=§A|R SPACE

—*l 1/2" GLASS BITE

SIDELITE PANEL\\

3

R
~

BACKBEDDING DURASEAL, ALUMINUM
COMPOUND OR STEEL SPACER

C) GLAZING DETAIL
Flush Glazing

Sidelites

~_1/8" TEMPERED GLASS

INTERNAL GRID (GBG)

INTERNAL GRID (GBG)

{Optional Aluminum Spacer)

9/16" INSULATED GLASS INSERT OPTIONS

DECORATIVE INSERT

INTERNAL GRID (GBG)

F/A
/4
s

INTERNAL GRID (GBG)

PRIVACY INSERT

41

INTERNAL GRID {GBG)
{Optional Aluminum Spacer)

1" INSULATED GLASS INSERT OPTIONS

MINI BLIND
{Aluminum Spacer)

y/4
7
/3
/4
j
¥/
/4

7

INTERNAL GRID (GBG) DECORATIVE INSERT

3/4" INSULATED GLASS INSERT OPTIONS

PRIVACY INSERT

-*a“
AT
oF T
v
v'. ..0
)
" v
't
seenedeet?
.
pasner? 'S
sart?
L

:
i 8
0. L
12 e
b

Dy xxit g
Nydande™

g
s

@ BTS LITE FRAME
1/2" & 916" Glazing

| —oss

R

']u

b4

1

sl
‘ BTS LITE FRAME
1" Glazing

1

o

Wy,
LN
-
o
83
£ 8
o i1
[T I
(ZaH] "
.o s
L. [If o
c At
5] o ®
o om
£ T 0
2 5@
>,
o©
2]
o
%
o
m
(o]
o

BUILDING CONSULTANTS, INC,

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

o
S| 2
<<
I
<8 |=
5@ = Z
rx B g
=i
o |93
= B
3 o
S E
& P
78]
wi&
Ly
0
IS}
o
O
&
S |n
& |z
o
S %)
o
] =
o
e
i
ra)
o
3
N
NE
S
[+
o
zZ
oATE: 11/14/17
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX~4725

SHEET 10 ofF 12

© 2017 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

7.5

1.25"

~1.29" =~

7.59"

32 INSWING THRESHOLD

Inswing Basic Composite Adjustable Sill 7-1/2"

4.56"

~ 1.55" »}

33 INSWING THRESHOLD

Inswing Basic Fixed Sill

5.75"

34

INSWING THRESHOLD

inswing Moderate Climate Silf 1-3/8"

575"

35

INSWING THRESHOLD

Inswing Moderate Climate Sill

5.75"

Sy —

~— 1.55" »l

36

INSWING THRESHOLD

Inswing Basic Fixed 5-3/4" Sill

37 INSWING THRESHOLD
Inswing Basic Fixed 7-1/2" Sill

4.56" '

38 INSWING THRESHOLD

1.3

Inswing Composite Adjustable Sill

S77

39 INSWING THRESHOLD
Inswing Basic Composite Adjustable Silt

6.0" -

0.08"

SIDELITE SPACER
Inswing

~— 2.06"

vy .

@ SWEEP

— ]

0.75"

{Q\,\\‘;’\\X}_‘l
A R

:‘\'\'\‘\ﬁ'&
TR
ate

PRl sest
F

16 OUTSWING THRESHOLD

Composite Sifl

4.5¢"

1.01"

s,

17 OQUTSWING THRESHOLD
Composite / Aluminum Sil

575"

[ P

214

18 OUTSWING THRESHOLD

Composite / Aluminum Sill
{Thermal Break)

0.56" ——-—[

)

l<—

~=— 0.56"

W

Ly

S

o

o

£% 2

G . "

0w [y

- B .

L. _JB
b -

s o

o P

vg i)

€ )

2 G
>
o ©
]
o
X
o
0
O
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—-11852

72 TRANSOM MOLDING

1.19"

5.69"

1 =T

——

™

e

0.68" —=

. SIDELITE SPACER <::> SIDELITE SPACER
Outswing Inswing

Moderate Climate Threshold

<: ) TRANSOM SILL

.y —”

S
22| &
o 5
w .
<0 |5 %
=< |ml o
ra = s
TX | O
g Y] H Q
o g
.. LL
b (14
§ o
el |E
o o
>
&
W
o
[e)
%)
O
&
S |»
@ |z
(@]
© @
A
& Q.
e
i
Q)
a
>
~
L
N
S
[+))
o
rd
OATE: 11/14/17
scale: NT.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4725

SHEET 11 oF 12

© 2017 R.W. BUILDING CONSULTANTS INDC.



Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR 947 - 6'8 & 8'0 Opaque Comp Edge Non-Impact (TX 4716 - 4727)\C - Drawings\TX-4724-25.dwg

w
BILL OF MATERIALS ﬁ15 A t §
TEM # | DESCRIPTION MATERIAL S0 2% 2g 0 o
A 2X FRAMING (SG >=0.42) wOOD :'o";‘jjr G g: G S
C | 1/4" MAX. SHIM SPACE ; gu % g asp N0 _z_zg d
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL ?;,3‘ ' A E gg £ oo ?
K #12 PFH WOOD SCREW (1-1/2" MIN. EMBEDMENT) STEEL ?’\-2“ g»- = % 8 8
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL {"{ »g o é > g
7| JAMB [FINGER JOINT PINE ) WOOD NG s 58T 2
6 | WEATHERSTRIP (MEDIUM REACH) FOAM et v 932 &
7 | WEATHERSTRIP (LONG REACH) FOAM g 3,8 S
8 | SWEEP VINYL g Bdi &
9 SWEEP (USE w/ MODERATE CLIMATE THRESHOLD) VINYL 2 & =
10 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL £ @‘% é
15 PUBLIC ACCESS THRESHOLD ALUM g
16 QUTSWING THRESHOLD ALUM/COMP
17 OUTSWING THRESHOLD ALUM/COMP
18 OUTSWING THRESHOLD ALUM/COMP
22 #8 x 3/4" PFH WOOD SCREW STEEL o %
23 #10 x 3/4" PFH WOOD SCREW STEEL n3:§ =
24 #10x 1" PFH WOOD SCREW STEEL Ho | ‘5’
25 #8 x 2-1/2" PFH WOOD SCREW STEEL §g % =
26 #8 x 5/8" PFH WOOD SCREW STEEL §8 § (S
27 LATCH STRIKE PLATE STEEL P& |2 3
28 DEADBOLT SUB STRIKE PLATE STEEL g = gl @
28A | DEADBOLT SUB STRIKE PLATE STEEL 5 =
29 4" X 4" HINGE STEEL & x
32 INSWING THRESHOLD ALUM/COMP ol
33 INSWING THRESHOLD ALUM/COMP ~|m
34 INSWING THRESHOLD ALUM/COMP W
35 INSWING THRESHOLD ALUM/COMP §
36 INSWING THRESHOLD ALUM/COMP o
37 INSWING THRESHOLD ALUM/COMP % "
38 INSWING THRESHOLD ALUM/COMP 8 Z
39 INSWING THRESHOLD ALUM/COMP . I 7
40 | DOOR PANEL (BOOK) - CONCRETE ANCHOR NOTES: 8 Ql
4] DOOR PANEL (HYBRID) - 1. Concrete anchor locations at the corners may be adjusted to maintain the min. 2
42 DOOR PANEL (U1} . edge distance fo mortar joints. fu
50 SIDELITE ; 2, Coqcrefe anchgr Iocaﬁon; noted as "MAX. ON CENTE{?:’ must be adjusted to 3
maintain the min. edge distance fo mortar joints, additional concrete anchors &
60 SIDELITE - may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. -
70 TRANSOM PANEL - 3. Concrete anchor table: Qs
71 | TRANSOM SILL WOOD N
72 TRANSOM MOLDING WOOD e | oG I
74 8d X 1" BRAD NAIL STEEL S e -9
75 SIDELITE SPACER (lNSWlNG) PVC ® 1_3/ o 9" 4" DATE: 1 1/1 4/1 7
76 | SIDELITE SPACER [OUTSWING) PVC TAPCON SCAE N.T.S.
77 | SIDELITE SPACER (INSWING) - MODERATE CLIMATE SILL PVC ngx’gng 14" 1.3/4" 1" 4 owe. Br:  JK
CHK. BY: LFS
WOOD SCREW INSTALLATION NOTES: P TIERTr
1. Maintain a minimum 5/8" edge qi;tcnce, 1" end distance, & 1" o.c. spacing of TX—4725
wood screws fo prevent the splitting of wood.
sHeer 12 ofF 12

© 2017 R.W. BUILDING CONSULTANTS INC.



